M—FZARDE « FICDONT

7—2 1

T—R2

1

JFEARYITOvD (WSS (N2) DLICTH
BARYITOvD (WBC () D'#E>TND,.

200 X1 f8+200 RxX1 =400 =

HBRYIYTOvD (WBC (B) OfICHEE
Z2MyI7OvD (WBT (NZ)) hHEE-> TR
HICH>TL\D,

200 R X2 f8+200 = X1 {8+200 = X1 1@

HBIARYYTOvD FEARYITOvD HBARYYTOvD BBARYITOvD =T AR
=800 =
M—7RAm BLU M—F AR HO
T—23 T—24

o

MBIAMRYITOvD (WEC () OBICERE
AMYIYT70OvD (WBEC (N\2) DEFE->TH
DHODFEBRARYITOVD (IWET (N2 I
HoT\D.

200 X2 f8+200 R X2 {@+200 R X2 {8

HBIARYYTOvD ®BREARYITOvVD M—F 2R

=1200 2

M—F 2R HD

HB2RNYITOvD (L\WBT (B) DEICHERE
MY TOvD (WBT (N\2) DHE->TH
DHDBRBRARYYTAVD (W (N B
BOBICHFBRAMNYIYTOVD (WET () B
HoTL\B,

200 R X3 f8+200 =X 2 {8+200 = X2 @

HEARYYTOvD REBARYITOvD N—FZAR

=1400 =

M—F 2R HD




M—FZARDOE « FICDONT

T—25

T—RX6

ZEBIARITOvD (WBT (N\2) HREBRR
VIYTJ0OvD (WBEC (B) #BARYIT0yY
2 (WBT (N2) DIRBTHEHERDTLND.

200 =X 118+200 mX 2{8+200 =<1 &
HBARYIYTOvY EEBARYITOvD M—T 2R

=800 =

M—F2r HD

MBEBIARYITOvD (WBT (8B) REBARY
V70w (WBT (N2) RBRRYIT0yY
2 (WBC () BARYYTOvD (WECT
NI2)) DIRB THEHEE D TUND.

200 R X2 f8+200 =X 2 {8+200 = X2 @

HBERYYTOvD #EBARYITOvD M—TF AR

=1200 =

MN—2AR HV




